
Time: 10 Minutes Paper Math 7th T (4) Total Marks: 10

1st Month,3rd Week, 4th Day Syllabus: Ex. 1.8 Complete

Q.No.1 Encircle the correct answer from the following choices. (1×2=2)



(i) If E = {1,2,6,7,8} , F = {6,7,8,1,2} sets are:   F = {6,7,8,1,2}, E = {1,2,6,7,8} 

(a) equal set  (b) equivalent set 

(c) Disjoint set  (d) overlapping set 



(ii) The pair of set shows: G = {x,y,z} H = {u,v,w,x,y,z} 

(a) Disjoint set  (b) overlapping set 



(c) Super set  (d) None 

Q.2. Which is the super set in each of te following pair of sets: (1.5×2=3)



(i) L = {u,v,w,x} M = {u,v,w,x,y,z} E = {1,2,3,.........,10} F = {0,+1,2,+3,....,+10}

Q.3. Look at each pair of sets seperate the disjoint and overlapping set (1.25×4 = 5)







(i) P = {2,3,5,7,11},  Q = {4,6,8,9,10,12}

(ii) E = {1,2,3,4,5,6} F = {1,3,2,5,6}

(ii) C = {0,5,10,15} D = {6, 5, 8, 9, 15}

(iv) A = {7,9,8,9} B = {a,b,c,d,e}
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